Q System is a cooperative game system
which introduces you to a mystery that
needs to be solved in a group or alone.

Beginning with a short introduction and
the first card, players will be detectives
investigating a case. Following a few
simple rules, you need to analyze the
clues, discuss your theories, and use
your powers of deduction in order to
solve the mystery.

In The Sherlock Files Series, you will
measure your score against the great
detective. Will you measure up to him
or to Lestrade?

Each case is unique and unrepeatable,
and therefore, it can only be played
once.

But, don’t worry! If you want to put it to
good use, let a group of friends play it
while you watch them. Watching others
play is just as fun as solving the case
yourself.

Follow the setup on the first card of the
deck (the one with the QR code).

In order to solve the case, it is crucial
to share information. You cannot show
the cards in your hand to other players,
but you can read out loud and discuss
the underlined text or the text framed
inside the image below.

The clues you have revealed so far are
public and everyone can read them.
You can share your theories with the

group and talk about the cards on the
table at any moment.

Before playing the first card, it may be
a good idea to share the information
you have in your hand and choose an
initial player.

THE

HERLOCK
FILES

The game is played in clockwise turn
order, one player at a time, until all
cards have been revealed or discarded.
During their turn, each player performs
one of the following actions:

a) Reveal information: Choose a
card from your hand and place it

on the table so everyone can see all
the information. In that moment, it is
recommended to read it out loud. If
you place a card that turns out to be
irrelevant to the case, this will take
away 1 point at the end of the game.
But be careful with the cards you
discard, some clues are essential to
solve the case!

b) Discard information: Choose a card
from your hand and place it face down
in the discard pile. You cannot talk
about that clue anymore until all cards
have been played.

IMPORTANT: At the end of the game,
the discard pile must have at least 6
cards. If not, you fail to solve the case
and the game ends.

At the end of your turn, draw one card
from the deck until it runs out of cards.

When all cards have been revealed

or discarded, players check all the
information on the table and together
set out a theory of what happened.
During this phase of the game, you can
talk freely about the discarded clues
and the things you remember.

Finally, when the group can provide
an explanation to the case, open

the questionnaire and answer the
questions. Once you have answered
all questions, open the booklet
completely, check the results of your
answers, and take away one point for
every irrelevant card revealed. The
result is your final score.
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WHEREABOUTS UNKNOWN

RECORDING OF A PHONE CALL
TO 911 EMERGENCY ON FRIDAY,
AUGUST 31 AT 13:06.

OPERATOR: 911, what'’s your
emergency?

NURIA: Hello. Someone broke into
my apartment. Everything is
upside-down.

OPERATOR: May | have the
address, please?

NURIA: 25 West Street, Boston.

OPERATOR: Are you inside or
outside the apartment?

NURIA: Inside.

1) Who has searched the
apartment?

a) Julian

b) Nuria

c) The cleaning lady
d) Someone else

2) How did that person get in?

a) With their keys

b) With borrowed keys

c) With stolen keys

d) Someone inside let them in

3) Where is Julian right now?

a) Onaplane

b) He is trapped somewhere

c) His whereabouts are unknown
d) ltisirrelevant to the case

4) Where is Javier right now?

a) On a plane

b) He is trapped somewhere

¢) His whereabouts are unknown
d) It is irrelevant to the case

5) Where is the cleaning lady
right now?

a) On a plane

b) She is trapped somewhere

¢) Her whereabouts are unknown
d) It is irrelevant to the case

OPERATOR: Do you think there
might be someone else inside?

NURIA: | don’t know, | don’t think
so. My husband isn’t here.

OPERATOR: Should he be there?

NURIA: No, he left for New York
this morning. But his house key and
mobile phone are here. It doesn’t
make sense.

OPERATOR: Calm down. What’s
your name, please?

NURIA: Nuria. My name is Nuria.

OPERATOR: Ok, Nuria. Stay where
you are. There is a police car on
its way.

6) Why did Julian get a haircut?

a) For convenience

b) To hide his illness

c) To pretend to be someone else
d) It is irrelevant to the case

7) Why did Julian’s car rush off as
soon as Martina got close?

a) The driver didn’t want to talk
to her

b) The driver didn’t want to see
her before the wedding

c) The driver just robbed her
house

d) It was coincidence

8) Will Javier go to Martina’s
wedding tomorrow?

a) Probably yes

b) No, because he has not been
invited

c) No, because he is not allowed to

d) No, because he has something
else he’d rather do

9) Why did Julian wear an old suit?

a) He wanted to lend it

b) He put on weight

c) He knew the suit was going to
be damaged

d) He wanted to smuggle
something

10) Which character is going to
suffer the most because of
what happened?

a) Javier

b) Julidn

c) Martina

d) Isaac




SCOREBOARD

]9—20 Sherlock Holmes: Excellent. You are one of a kind.

15_]8 Mycroft Holmes: Don’t let your brother’s reputation affect your talent.
It’s not for nothing that you work for Her Majesty’s Government.

“_14 Irene Adler: Sherlock himself is impressed by your ingenuity, something
that is not within everyone’s grasp.

7_]0 John Watson: You have solved a large part of the case, but the whole
truth still evades you.

6 OR LESS Inspector Lestrade: Sherlock is going to make fun of you a little bit.
Solve another case and prove him wrong!

e

Julian Rota has a twin brother (19), Javier, who is in prison carrying out a long sentence (24). Julian’s

niece, Martina Rota (16), is getting married tomorrow (29) and, since Javier’s prison furlough to attend the
ceremony has been denied (15), the two brothers agree to exchange their identities during a family visit and
then change back during the next planned visit on Monday (5).

To ensure the plan’s success, Julian makes preparations for the switch (20): to resemble his brother’s looks (/’\
(8), wears a suit that will disguise Javier’s body (13) and creates an alibi for Javier to spend the weekend ™
away from Nuria, lessening the risk that he is discovered (28). In spite of everything being settled, )
Julian is nervous and he cannot sleep the previous night (13).

His concern turns out to be well founded, because Javier decides not to keep his part of the 7 ,
deal. Instead of going to the hotel as planned (14), he goes to his brother’s apartment /
using his keys (6) and takes everything he needs to escape (25). He goes by his

daughter’s house to see her one last time (7) and drives to the airport in order ‘%
to fly somewhere without extradition treaties (14). However, when he arrives
there, he realises that there is one detail he didn’t consider: Julian’s passport has %
expired (27). Flying within the US would be easily traceable and would restrict ~
his later movements, so Javier chooses to escape by car (2).

His current whereabouts are still unknown.
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WHEREABOUTS UNKNOWN
RECORDING OF A PHONE CALL OPERATOR: Do you think there
TO 911 EMERGENCY ON FRIDAY, might be someone else inside?

AUGUST 31 AT 13:06.
OPERATOR: 911, what’s your

NURIA: | don’t know, | don’t think so.
My husband isn’t here.

emergency? OPERATOR: Should he be there?
NURIA: Hello. Someone; bque into NURIA: No, he left for New York
my apartment. Everything is this morning. But his house key and
upside-down. mobile phone are here. It doesn’t
OPERATOR: May | have the address, akelense

please? OPERATOR: Calm down. What’s

e
NURIA: 25 West Street, Boston. your name, pleasef

OPE_RATOR: Are you inside or NURIA: Nuria. My name is Nuria.
outside the apartment? OPERATOR: Ok, Nuria. Stay where

NURIA: Inside. you are. There is a police car on
J > its way.



SCOREBGARD

]9—20 Sherlock Holmes: Excellent. You are one of a kind.

]5_]8 Mycroft Holmes: Don’t let your brother’s reputation affect your talent.
It’s not for nothing that you work for Her Majesty’s Government.

“_]4 Irene Adler: Sherlock himself is impressed by your ingenuity, something
that is not within everyone’s grasp.

7_10 John Watson: You have solved a large part of the case, but the whole
truth still evades you.

6 OR LESS Inspector Lestrade: Sherlock is going to make fun of you a little bit.
Solve another case and prove him wrong!

— S

Julian Rota has a twin brother (19), Javier, who is in prison carrying out a long sentence (24). Julian’s

niece, Martina Rota (16), is getting married tomorrow (29) and, since Javier’s prison furlough to attend the
ceremony has been denied (15), the two brothers agree to exchange their identities during a family visit and
then change back during the next planned visit on Monday (5).

To ensure the plan’s success, Julian makes preparations for the switch (20): to resemble his brother’s looks
(8), wears a suit that will disguise Javier’s body (13) and creates an alibi for Javier to spend the weekend
away from Nuria, lessening the risk that he is discovered (28). In spite of everything being settled,
Julian is nervous and he cannot sleep the previous night (13).

His concern turns out to be well founded, because Javier decides not to keep his part of the
deal. Instead of going to the hotel as planned (14), he goes to his brother’s apartment
using his keys (6) and takes everything he needs to escape (25). He goes by his
daughter’s house to see her one last time (7) and drives to the airport in order
to fly somewhere without extradition treaties (14). However, when he arrives
there, he realises that there is one detail he didn’t consider: Julian’s passport has
expired (27). Flying within the US would be easily traceable and would restrict
his later movements, so Javier chooses to escape by car (2).

His current whereabouts are still unknown.
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SOLO GAME

oees| (p
euiel (@ )
uelnr (q If you are going to solve the case alone,
JaIAer (e follow the same rules with the following
changes:
épauaddey € You will have 6 cards in your hand.

dstiMjoEnesea isow ediaelinsion ulobisT e UM MICOL 4 When discarding, choose if you discard

BUIYIBWOS 9|BBNWS 0} PajUeM aH (P onto the final discard pile or onto the
pabewep aq 03 BUIOB Sem 3INS 3yl Mauy aH (2 temporary one.
1ybram uo ind aH (q € When the deck runs out of cards, and
A PUE] @ [RRHUR &l (@ if the final discard pile has at least 6
cards, shuffle the temporary pile and
turn it into the new deck (yes, you
will take clues that you have already
discarded onto that pile).
From that moment until the end of the
game, you can only discard onto the
final discard pile.
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When all of you agree on an explanation for the case, open
the questionnaire and answer the questions. Once you have
answered all questions, open the booklet completely to check
the results of your answers.

If you cannot agree on an explanation, you fail to solve the
case and the game ends.




SCOREBOARD

]9—20 Sherlock Holmes: Excellent. You are one of a kind.

15_]8 Mycroft Holmes: Don’t let your brother’s reputation affect your talent.
It’s not for nothing that you work for Her Majesty’s Government.

“_14 Irene Adler: Sherlock himself is impressed by your ingenuity, something
that is not within everyone’s grasp.

7_]0 John Watson: You have solved a large part of the case, but the whole
truth still evades you.

6 OR LESS Inspector Lestrade: Sherlock is going to make fun of you a little bit.
Solve another case and prove him wrong!

e

Julian Rota has a twin brother (19), Javier, who is in prison carrying out a long sentence (24). Julian’s

niece, Martina Rota (16), is getting married tomorrow (29) and, since Javier’s prison furlough to attend the
ceremony has been denied (15), the two brothers agree to exchange their identities during a family visit and
then change back during the next planned visit on Monday (5).

To ensure the plan’s success, Julian makes preparations for the switch (20): to resemble his brother’s looks (/’\
(8), wears a suit that will disguise Javier’s body (13) and creates an alibi for Javier to spend the weekend ™
away from Nuria, lessening the risk that he is discovered (28). In spite of everything being settled, )
Julian is nervous and he cannot sleep the previous night (13).

His concern turns out to be well founded, because Javier decides not to keep his part of the 7 ,
deal. Instead of going to the hotel as planned (14), he goes to his brother’s apartment /
using his keys (6) and takes everything he needs to escape (25). He goes by his

daughter’s house to see her one last time (7) and drives to the airport in order ‘%
to fly somewhere without extradition treaties (14). However, when he arrives
there, he realises that there is one detail he didn’t consider: Julian’s passport has %
expired (27). Flying within the US would be easily traceable and would restrict ~
his later movements, so Javier chooses to escape by car (2).

His current whereabouts are still unknown.



